Name:

D ate:

Mixed Subtraction Review

Directions: Use subtraction facts to solve.

8 tens - 4 tens = tens 6 tens - 3 tens = tens
80-40=__ 60-30=__
4 tens - 1 ten = tens 9 tens - B tens = tens
40-10=__ 90-50=__
50 -30= 70 -40 = 30-10=
50 80 40 90 80
- 20 - 30 - 30 - 70 - B0
60 30 70 20 60
- 40 - 10 - 30 - 10 - 20

Laci had 40 cat coins. Seth had 70 cat
coins. How many more cat coins did
Seth have than Laci?

[]

Marissa had 30 pennies. Katie had 50
pennies. How many more cat coins did
Katie have than Marissa?

[]

Score:

/
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